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as far as practicable.

ST ¥ SfeT spef 3 N F |

Candidates are required to give their answers in their own words

1.

TPV T S IYET o7 FIF fate [

Answer any ten questions:
[ (@FET 996 IF BB 1l8:

a) What do you mean by investment?

fafercs Fete @it Bt (@ET?

b) What do you mean by the primary market?
3T AT @ QT BT (JMAT?

¢) Distinguish between gambling and speculation.

ST 3 HICHTA A T T

d) What do you mean by diversification?
Diversification I8 @13 1 (JTET?

¢) What do you mean by forward contract?

SAf3 §f e FeTte @il Bt (JRN?

f) What is zero-coupon bond?.
Zero coupon bond (e QY FI (JTRT?

g) What is fundamental analysis?
Fundamental analysis 109 @%( I @ET?

h) Define an efficient frontier.
Efficient frontier 99 J3&31 W13 |

i) What is ‘Ex-Ante’ return?
‘Ex-Ante’ return $1?

i) What is the free float index?
Free float index $1?

k) What do you mean by diversifiable risk?
Diversifiable risk $?

I) What do you mean by swaps?
Swaps e Qf FI (ITET?

m) What is yield to maturity?

Yield to maturity $1?

n) What do you mean by economic analysis?
Economic analysis Fe(® Qs FI (ITET?

0) What do you mean by price charts?

Price charts 3Tt® @fl Ft (I1RT?

2x10=20



2. Answer any four questions: 5x4=20

(T (P B1RfG J0IF Tad 1a:
a) Distinguish between money market and capital market.
BIFTR FTOH 3 TN JTONE A7 NS TS &7 5

b) Explain the criteria adopted in the selection of scrips for the construction of Sensex.

Sensex SPET (F@ CTHF L@ AT S Iy F@n 5

c) Write a short note on Head and Shoulders.
Head and Shoulders 95 &51F A6 BIFT (A 5

d) How do you ascertain the portfolio risk for two securities in Markowitz Model?

Markowitz Model 4 Q¥ 1 ©IF (MGG % fovefTae A 736 CTAET Sely? S

e) Distinguish between call options and put options
T ST 3 5B ST NS T FET 5

f) Discuss the methods of computing stock market index.
CTIR ISR 6 T TR ST SET6T FET| 5

3. Answer any two questions: 10x2 =20
(T (I 2f6 J0 Tad wrs:
a) The ACC and SBI had the following ex-post returns (%):
ACC SBI
30 40
-15 -25
25 28
27 20
13 15
Calculate the portfolio return and risk from the above information assuming that weights are equal.

RIMS o7 58| 10

b) Discuss the investors’ grievance redressal mechanism at SEBI.

SEBI (& RfT@sTat SIS fTasa afe SEsa FET| 10
c) Describe the key economic factors that an investor must consider as part of his fundamental analysis. (I S¥3
37T (AP THAMI SfeT AFG [AINATTHI TPTR RECAT FAE ©FF BISTEACTT [BIERIGE]
D1 RN, (TSfeT FefelT T 10
d) You are evaluating an investment in two companies whose past ten years of returns are shown
below:
Companies Per cent Return During year
1 2 3 4 5 6 7 8 9 10
Cipla 27 34 -10 16 19 22 -15 25 28 16
BPCL 22 39 -17 10 17 20 8 19 22 12

(1) Calculate the average return.
(i1) Calculate the standard deviation of each company’s returns.
(ii1) Calculate the correlation coefficient of the companies’ returns.

RIS T Ge85| 2+4+4 = 10
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PIF TIAEE TRANSH T M A3 |
AT TITEF [AET ST Sad (1T

(1) Answer any ten questions: 2x10=20
(F (P 76 AT S6d (T

(a) Mention any four specified goods as per tax collected at source (TCS) provisions. G307 F WIT FT
RFE (F (FTE] GE “A0g oy S FET

(b) What are the due dates for payment of advance tax by an individual assessee? AFsa Foa-f=1fT T=T
A FF T9 FAF g {Ffeq oy SEY FET

(c) As per the provisions of Section 139(1) mention any four persons who are required to file return of
income. 139(1) AT AGNI (T FIEAT HIFGT [fEF T SEY FET IO (F@ NI oWl S (w377
JETORAT |

(d) What is compulsory filing of return? ITSR[EF SN [FET ST FIE ICT?

(e) What is defective return u/s 139(9)? 139(9) 1T J1t HHIf G FNF IET?

(f) Mention any four prescribed transactions where PAN or Aadhar number must be quoted. (I (1T 519
TFNER T (Toel SE FET (T (5@ PAN ST A 799 SEN T IETOS |

(g) What is self-assessment as per Section 140A? 140A 4191 W@%WWW

(h) Mention any two important points which are to be kept in mind regarding the calculation of interest as
per IT Act, 1961,.. SXFF SIRA 1961 SHIE S[7 fV&{Taer FAE ST I (F1 > 3Pyl (37 @01 41
Tfbe o SEY FET

(i) Mention any two circumstances in which search warrants may be issued as per the provisions of IT Act,
1961. SIIFH SN 1961 TP ATHIN (WT6) W S FAT T 937 6 A3 STy FEAT|

(i) Mention any four powers that the Income Tax authority may exercise while conducting survey. faasT
FAF TNT AIFH F5F TS FA© TF 979 51F IFH HHo] SEY FET|

(k) What are the two reasons for which Income Tax authority may reduce or waive the amount of interest
paid or payable by an assessee? A%« 4o FET F JF Ty AFG AIFH PTF [V&IF FIAT [0 Fwn@a
S FA© M JT T ATfAS FAC© AE?

() When is a person eligible to get refund u/s 23772 237 11 ST T 938 A& LIFT (FF© MSIH
(I5T5?

(m)What is scrutiny assessment as per Section 143(3)? 143(3) WW‘I‘E’[ WW P JC¢T?

(n) As per Section 132 who can issue search warrants? 132 197 Wﬁ(ﬁ?@?ﬁ‘ﬁﬂ (@1 6 ST JF F©
M?

(o) Mention any two circumstances when Income Tax authority can ask for books of accounts. a3« qjﬁ

SAARS SEN FET I ATFT T RAF-fASPT 18 I3-2TeT-7a (5 AOS =E?

(2) Answer any four questions: 5x4 =20
(T (P SIF(G ST T3 (T

(a) As per the Income Tax Act, 1961, mention the different circumstances in which interest is payable and
receivable by an assessee.

ST TR, SO I fAfew Ao SE FET (@A 3509 fHfEE S a7 Fa00 27 a3 g sm
215 2|



(b) Write short notes on any two of the following:
(i) Return of loss [Section 139(3)]
(i) Belted return [Section 139(4)]
(iii) Revised return [Section 139(5)]
forarferfare (T (@1 9ft R Soi iki55g BT (Ta:
(i) Sfea A6 [139(3) &1
(ii) f=ifye 51l [139(4) &man]
(i) ReNfE® fRE [139(5) =T

(c) Briefly mention the different circumstances u/s 147 under which the Assessing Officer may assess or
reassess an income which has escaped assessment.

147 HTRT STE FOR-ASE TSI ANFF (F@ [ AZewmw FrerE (1R S [ 3T AT FA© A&
o REECT TGN FET

(d) “Penalty is imposed on an assessee for violating the different provisions of the Income Tax Act, 196”.
Mention any ten of such defaults which may attract penalty.
“SIIFF D2, 1961 97 ST N1AT TS FAET 930 [V IFT THF SR SANETT F771 2371 9% ¥7@H (F (FIEAT 7
PN ARG SEN FET T B SN ST FAT 20O MH|

(e) Write a short note on e-TDS and e-TCS.
e-TDS 932 e-TCS a7 S5 :f35g BiT (<

(f) How is General Anti Avoidance Rule (GARR) related to tax avoidance?
IS SAET D MNSIGTH F (GARR) FF IGTEH WWW@@(ERHI

(3) Answer any two questions: 2x10=20
(T (@ 96 T T8 (T

(a) Explain in detail the different assessment procedures for an individual under the Income Tax Act, 1961.

SFFH A3, 1961 97 K 976 ToF e (FHa T [T AT Tafeq [Ruifae I F@T

(b) What do you understand by Assessee in Default u/s 220(4)? Discuss in detail the different modes of
recovery of taxes from an assessee in default as per Section 222 and Section 226.

220(4) XA I (TFIAT N ToM0@ I @WET? 222 9T 226 HTHT NG (FAFIR FAIET F7% (4@ T@W
F9 A a9 [Afod Tafo = [PfEe s FEm

(c) Discuss the important provisions u/s 246A to 250 when appeal against a specified order of the
Assessing Officer may be made to the Commissioner of Income Tax (Appeals).

A T AHETET @ A58 ST (€250, 246A (W 250 HTRT IR, AIFT SR (SNfeT) 97 FIE
ST JT AMEwA FAT (IO A A7 5 SR [T A6 FET|

(d) What do you understand by Securities Transaction Tax (STT)? What are the different types “securities”
under STT? Discuss in detail the various circumstances in which STT is levied?

FSRAES (ama 39 (STT) I7@ @ $1 @RT? STT 97 I@Ge [Hfon 57 "NFOHGs" 8f $2 STT w47
7 a3 fIfew Afafife s [Ruifae aensa @



